
,1$56,1'
$662&,$=,21(�',�,17(6$�6,1'$&$/(�

'(*/,�$5&+,7(77,�(�,1*(*1(5,�
/,%(5,�352)(66,21,67,�,7$/,$1,�

�ĂƌŽ�ŝƐĐƌŝƚƚŽ͕�

ŶĞůůĂ�ĐĂƌƚĂ�ŝŶƚĞƐƚĂƚĂ�ĚĞůůĂ�ŶŽƐƚƌĂ��ƐƐŽĐŝĂǌŝŽŶĞ�ğ�ƐĐƌŝƚƚŽ�͞�ƐƐŽĐŝĂƚŽ�&ŝĚŝĐ͟�Ğ͕�ŐŝƵƐƚŽ�ƉĞƌ�ĨĂƌĞ�ƵŶ�

͞ƌŝƉĂƐƐŽ͕͟�ƐŝŶƚĞƚŝǌǌŝĂŵŽ�ƵŶ�Ɖž�ĚĞůůĂ�ŶŽƐƚƌĂ�ƐƚŽƌŝĂ͘�

&ŝŶ�ĚĂů�ϭϵϵϯ�;ƐŽƚƚŽ�ůĂ�ƉƌĞƐŝĚĞŶǌĂ�ĚĞůů͛ĂƌĞƚŝŶŽ�>ƵŝŐŝ�>ƵĐŚĞƌŝŶŝͿ͕�/E�Z^/E�͕�ĂůůŽƌĂ�̂ E/>W/͕�ĂĚĞƌŝƐĐĞ�

Ă�&/�/�͕�ĨĞĚĞƌĂǌŝŽŶĞ�ŝŶƚĞƌŶĂǌŝŽŶĂůĞ�ĚĞůů͛ŝŶŐĞŐŶĞƌŝĂ�ĨŽŶĚĂƚĂ�ŶĞů�ϭϵϭϯ͕�ĐŽŵƉŽƐƚĂ�ĂƚƚƵĂůŵĞŶƚĞ�

ĚĂůůĞ� ƌĂƉƉƌĞƐĞŶƚĂŶǌĞ� Ěŝ�Ɖŝƶ� Ěŝ� ĐĞŶƚŽ� ŶĂǌŝŽŶŝ� ĚŝĨĨĞƌĞŶƚŝ� ĚŝƐƚƌŝďƵŝƚĞ� ŝŶ� ƚƵƚƚŽ� ŝů� ŵŽŶĚŽ͕� ĐƵŝ�

ĂĚĞƌŝƐĐŽŶŽ�ĐŽŵƉůĞƐƐŝǀĂŵĞŶƚĞ�ŽůƚƌĞ�ƵŶ�ŵŝůŝŽŶĞ�Ěŝ�ƉƌŽĨĞƐƐŝŽŶŝƐƚŝ͘�

�Ă�ƐĞŵƉƌĞ�ŝŵƉĞŐŶĂƚĂ�ƐƵŝ�ƚĞŵŝ�ĚĞůůĂ�ĐŽƌƌĞƚƚĞǌǌĂ�ƚƌĂ� ůĞ�ƉĂƌƚŝ�ŶĞŝ�ĐŽŶƚƌĂƚƚŝ�Ěŝ�ƉƌŽŐĞƚƚĂǌŝŽŶĞ�Ğ�

ƌĞĂůŝǌǌĂǌŝŽŶĞ�ĚĞůůĞ�ŽƉĞƌĞ�Ěŝ�ŝŶŐĞŐŶĞƌŝĂ͕�ĚĞůůĂ�ƐŽƐƚĞŶŝďŝůŝƚă͕�ĚĞůůĂ�ƉƌĞǀĞŶǌŝŽŶĞ�ĚĞůůĂ�ĐŽƌƌƵǌŝŽŶĞ�Ğ�

ĚĞůů͛ĂƚƚĞŶǌŝŽŶĞ�ĂůůĂ�ƋƵĂůŝƚă�ĚĞůůĂ�ƉƌŽŐĞƚƚĂǌŝŽŶĞ͕�&/�/��ğ�ŶŽƚĂ�ŝŶ�ƚƵƚƚŽ�ŝů�ŵŽŶĚŽ�ƐŽƉƌĂƚƚƵƚƚŽ�ƉĞƌ�

ŝů�ŐƌĂŶĚĞ�ůĂǀŽƌŽ�ƐǀŽůƚŽ�ŝŶ�ƚĞŵĂ�Ěŝ�ĐŽŶƚƌĂƚƚƵĂůŝƐƚŝĐĂ�ĐŚĞ�ǀĂ�ƌĞŐŽůĂƌĞ�Őůŝ�ĂƉƉĂůƚŝ͕�ƉƌŝŶĐŝƉĂůŵĞŶƚĞ�

ŝŶ�ĂŵďŝƚŽ�ŝŶƚĞƌŶĂǌŝŽŶĂůĞ͕�ŝŶ�ŵŽĚŽ�ƉƵŶƚƵĂůĞ�Ğ�ďŝůĂŶĐŝĂƚŽ�ƚƌĂ�ŝ�ǀĂƌŝ�ƐƚĂŬĞŚŽůĚĞƌƐ͘�/ů�ƐƵĐĐĞƐƐŽ�ĚĞŝ�

ŵŽĚĞůůŝ�ĐŽŶƚƌĂƚƚƵĂůŝ�&/�/��ŚĂ�ƐƵďŞƚŽ�ƵŶĂ�ĨŽƌƚĞ�ĂĐĐĞůĞƌĂǌŝŽŶĞ�ĚĂ�ƋƵĂŶĚŽ�ůĂ��ĂŶĐĂ�DŽŶĚŝĂůĞ�Ğ�

ůĞ� ĂůƚƌĞ� ďĂŶĐŚĞ�ŵƵůƚŝůĂƚĞƌĂůŝ� Ěŝ� ƐǀŝůƵƉƉŽ� ;/ŶƚĞƌŶĂƚŝŽŶĂů� &ŝŶĂŶĐŝĂů� /ŶƐƚŝƚƵƚŝŽŶƐ� ʹ� /&/ƐͿ� ůŝ� ŚĂŶŶŽ�

ĂĚŽƚƚĂƚŝ� ĞĚ� ŝŶƐĞƌŝƚŝ� ŶĞůůĂ� ůŽƌŽ�ĚŽĐƵŵĞŶƚĂǌŝŽŶĞ� ƐƚĂŶĚĂƌĚ� ;ďŝĚĚŝŶŐ�ĚŽĐƵŵĞŶƚĂƚŝŽŶͿ� ƌĞůĂƚŝǀĂ�Ă�

ŐĂƌĞ�Ě͛ĂƉƉĂůƚŽ�ƉĞƌ�ŽƉĞƌĞ�;ĐŽͲͿ�ĨŝŶĂŶǌŝĂƚĞ�ĚĂůůĞ�ŝƐƚŝƚƵǌŝŽŶŝ�ƐƚĞƐƐĞ͘�

�ŝĂƐĐƵŶĂ� EĂǌŝŽŶĞ� ƉƵž� ĂĚĞƌŝƌĞ� Ă� &/�/�� ĐŽŶ� ƵŶ͛hE/��� ĂƐƐŽĐŝĂǌŝŽŶĞ� ŝŶ� ƌĂƉƉƌĞƐĞŶƚĂŶǌĂ�

ĚĞůů͛ŝŶŐĞŐŶĞƌŝĂ� ŶĂǌŝŽŶĂůĞ͖� ĚĂů� ϮϬϭϱ� /E�Z^/E�� ĐŽŶĚŝǀŝĚĞ� ĐŽŶ� K/��͕� ĐŚĞ� ƌĂƉƉƌĞƐĞŶƚĂ� ůĞ�

ŽƌŐĂŶŝǌǌĂǌŝŽŶŝ�ŝƚĂůŝĂŶĞ�Ěŝ�ŝŶŐĞŐŶĞƌŝĂ͕�ĂƌĐŚŝƚĞƚƚƵƌĂ�Ğ�ĐŽŶƐƵůĞŶǌĂ�ƚĞĐŶŝĐŽͲĞĐŽŶŽŵŝĐĂ͕�ů͛ĂĚĞƐŝŽŶĞ�

Ă�&/�/��ĂǀĞŶĚŽ�ǀŽůƵƚŽ�ĚĂƌĞ�ĐŽƐŞ� ůĂ�Ɖŝƶ�ĂŵƉŝĂ�Ğ�ĐŽŵƉůĞƚĂ�ƌĂƉƉƌĞƐĞŶƚĂƚŝǀŝƚă�Ă�ƚƵƚƚŽ� ŝů�ŵŽŶĚŽ�

ĚĞůů͛ŝŶŐĞŐŶĞƌŝĂ�ŝƚĂůŝĂŶĂ͕�ĐŽŵƵŶƋƵĞ�ŽƌŐĂŶŝǌǌĂƚĂ͕�ŝŶ�ĂŵďŝƚŽ�ŝŶƚĞƌŶĂǌŝŽŶĂůĞ͘�


